SHsEHE 5 ATEFESR  EEMIBLTYE

B |’ SBATE BRTH | BEB | 300 (%oﬁ 6 ADFE
12:45)

1| A 1800 | O | 1955 | O | 1| * |mesms wnme
2 | K 18:00 o 1090 o 2 | &
3 | K |FAEREEZA 3 | £
4 | K |A#EYDH 4 | B
5 | £ |ZEEDA 5 | A
6 | & 6 | & [3FERHTAL
7| H 7| K
8 | A |EMZER RRE 16:20 X 16:30 ) 8 | &
9 | X g%ﬁé%ﬁgﬁ 18:00 O }g?g O o | &
10 | 7K E%%%%%'?gﬂ% 13:20 x 1330 | 1225 | 10| = |xiemxs(trEEs)
TRES 1800 | O | 107 o |[u]e
12| & 1800 | O 1830 1 o | 2| A |[(omEER)
13 | £ |ZHBEFHIK 13| Kk ()
14| B |XHBESHE | x| B Re am
15| B |EH®RE(~ 3 1800 | O | 1555 o [15] =
16 | X |[BERE RAGHE 13:20 X 13:30 1225 | 16 | & [meskdliz
17 | K | ZFB#H BESRRZ 13:20 X 13:30 1226 | 17 | *
18 | K | ZEBH 13:20 X 13:30 1226 | 18 | |
19| £ | =FBH% 13:20 X 13:30 1225 | 19| &
20 | £ |ZEEZHRAEFHEE X 20 | %
21 | B |X&BEZ=HAKTiHE X 21 | K [HIRT AN
22 | B |hREFAN BAFHE 13:20 X 18330 | 1225 | 22 | & |#k7=k
23 | K |hREITF RN 100 | o | 19301 o |=z]|e fmxxt
24 | 7k 18:00 o 18:30 o ||+
25 | & 18:00 o 18:30 o || =
26 | & [BUERGSR H 1800 | O | 1839 o =]
27 | £ 27 | k| HREHR
28 | H 28 | ik
20 | A |R#BE(EL) TBA 1800 | O | 19301 o |[a]=%
30 | X |FRIEE2XR 18:00 O }g?g O 0 | & |EEHRGHK
a1 | ok [JELELEBRRE 16:20 x 16:30 @)

EMZE R RREIR




